FgArea: [0 ]
NC11 P3-2
2025-04-17 (Day 19)




400 -

300

200

100

ARER]
A
AN

2.5

5.0

T
7.5 10.0 12.5 15.0 17.5
d




=
>
—
T T T T T T T
o o (=] o (=] o (=] o
o o o o 19} o Ip]
™ ™ N N — —

12.5 15.0 17.5

10.0

5.0 7.5

2.5



1 0IR

——

0

1.

0.8 A

0.6 -

0.4 A

0.2 A

0.0

12.5 15.0 17.5

10.0

5.0 7.5

2.5



450 -

o 1 VI vs Du

400 A

350

300

250

200

150

100 ‘

T T T T T T T
200 300 400 500 600 700 800
DU



FR

—o—
L

0. 600 ~
0. 575 A
0. 550 A
0. 525 ~
0. 500 ~
0. 475 ~
0. 450 ~
0. 425 ~

12.5 15.0 17.5

10.0

5.0 7.5

2.5



1 setVI

—0—
]

100
80 -
60 -
40 -

12.5 15.0 17.5

10.0

7.5

5.0

2.5



1 (fgArea = NA)

3000

2500

2000 -

1500 ~

1000 ~

—@— ECI*10%

—0— ECO




—@—  PHI*10%

754 —®— VPHO

7.0 1
6.5 1
6.0

5.9

12.5 15.0 17.5

10.0

5.0 7.5

2.5
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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